## San Antonio Water System Antonio Water Solicitation Vendor Price List

Prepared By: Janie M. Powell

Solicitation No : CO-00560

Job # : 20-4532

Contract No:

SAN ANTONIO WATER SYSTEM

PO Box:2994

San Antonio,Texas, 78298-2449 **TABULATION OF BIDS** 

Proposal : BPC Sewershed Package 5 - Pipe Burst and Open Cut

Time And Date: June 24, 2022 at 10:00 AM CDT

Price List

						CO-00560 - 1_T CONSTRUCTION LLC				SANDBLASTING NG	CO-00560 - 3_	TEXAS P	RIDE UTILITIES	CO-00560 - 4_CRUZ TEC INC			
Line No	Item No	Quote Category	SOV Item		Unit	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount
1	103.1	General Sanitary Sewer Bid Items		REMOVE CONCRETE CURB (COSA SPEC)	LF	\$6.00	300	\$1,800.00	\$10.00	300	\$3,000.00	\$10.00	300	\$3,000.00	\$4.00	300	\$1,200.00
2	103.3	General Sanitary Sewer Bid Items		REMOVE CONCRETE SIDEWALK AND DRIVEWAYS (COSA SPEC)	SF	\$5.00	661	\$3,305.00	\$10.00	661	\$6,610.00	\$4.00		\$2,644.00	\$3.00	661	\$1,983.00
3	103.4	General Sanitary Sewer Bid Items		REMOVE MISCELLANEOUS CONCRETE	SF	\$6.00	586	\$3,516.00	\$15.00	586	\$8,790.00	\$5.00	\$ 86	\$2,930.00	\$6.00	586	\$3,516.00
4	203.1	General Sanitary Sewer Bid Items		TACK COAT (COSA SPEC)	GAL	\$25.00	511	\$12,775.00	\$20.00	511	\$10,220.00	\$20.00	511	\$10,220.00	\$27.00	511	\$13,797.00
5	205.2	General Sanitary Sewer Bid Items		HOT MIX ASPHALT CONCRETE TYPE B (10" COMPACTED) (COSA SPEC)	SY	\$125.00	78	\$9,750.00	\$150.00	78	\$11,700.00	\$128.00	7°	\$9,984.00	\$95.00	78	\$7,410.00
6	205.4	General Sanitary Sewer Bid Items		HOT MIX ASPHALT CONCRETE TYPE D (2" COMPACTED)(COSA SPEC)	SY	\$98.00	5,711	\$559,678.00	\$72.00	5,711	\$411,192.00	\$65.00	5,71	\$371,215.00	\$68.00	5,711	\$388,348.00
7	206.1	General Sanitary Sewer Bid Items		ASPHALT TREATED BASE (ATB) (10" COMPACTED DEPTH) (COSA SPEC)	SY	\$125.00	656	\$82,000.00	\$140.00	656	\$91,840.00	\$120.00		\$78,720.00	\$98.00	656	\$64,288.00
8	208.1	General Sanitary Sewer Bid Items		SALVAGING, HAULING & STOCKPILING RECLAIMABLE ASPHALT PAVEMENT (2" DEPTH) (COSA SPEC)	SY	\$24.00	5,090	\$122,160.00	\$20.00	5,090	\$101,800.00	\$26.00	5,010	\$132,340.00	\$28.00	5,090	\$142,520.00
9	230.2	General Sanitary Sewer Bid Items		CONCRETE PAVEMENT FULL-DEPTH REPAIR (8" COMPACTED DEPTH) (COSA SPEC)	SY	\$150.00	121	\$18,150.00	\$200.00	121	\$24,200.00	\$110.00	121	\$13,310.00	\$210.00	121	\$25,410.00
10	401	General Sanitary Sewer Bid Items		FLOWABLE FILL	CY	\$175.00	57	\$9,975.00	\$350.00	57	\$19,950.00	\$150.00	57	\$8,550.00	\$185.00	57	\$10,545.00
11	500.1	General Sanitary Sewer Bid Items		CONCRETE CURB (COSA SPEC)	LF	\$12.00	319	\$3,828.00	\$50.00	319	\$15,950.00	\$40.00	3	\$12,760.00	\$35.00	319	\$11,165.00
12	502.1	General Sanitary Sewer Bid Items		CONCRETE SIDEWALKS (CONVENTIONALLY FORMED)	SY	\$95.00	46	\$4,370.00	\$100.00	46	\$4,600.00	\$88.00		\$4,048.00	\$125.00	46	\$5,750.00
13	503.2	General Sanitary Sewer Bid Items		PORTLAND CEMENT CONCRETE DRIVEWAY - COMMERCIAL (COSA SPEC)	SY	\$108.00	48	\$5,184.00	\$120.00	48	\$5,760.00	\$120.00	#8/	\$5,760.00	\$145.00	48	\$6,960.00
14	503.4	General Sanitary Sewer Bid Items		ASPHALTIC CONCRETE DRIVEWAY (COSA SPEC)	SY	\$130.00	22	\$2,860.00	\$90.00	22	\$1,980.00	\$68.00		\$1,496.00	\$95.00	22	\$2,090.00
15	505.1	General Sanitary Sewer Bid Items		CONCRETE RIPRAP (5" THICK)	SY	\$195.00	65	\$12,675.00	\$150.00	65	\$9,750.00	\$40.00		\$2,600.00	\$145.00	65	\$9,425.00
16	SP507	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCE	LF	\$33.00	60	\$1,980.00	\$140.00	60	\$8,400.00	\$50.00	60	\$3,000.00	\$52.00	60	\$3,120.00
17	509.1	General Sanitary Sewer Bid Items		METAL BEAM GUARD RAIL (COSA SPEC)	LF	\$185.00	75	\$13,875.00	\$150.00	75	\$11,250.00	\$300.00	75	\$22,500.00	\$250.00	75	\$18,750.00

						CO-00560 - 1_T CONSTRUCTION LLC			CO-00560 - 2_PRONTO SANDBLASTING & COATING			CO-00560 - 3_	TEXAS PF	RIDE UTILITIES	CO-00560 - 4_CRUZ TEC INC		
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount
18	515.1	General Sanitary Sewer Bid Items		TOPSOIL	CY	\$40.00	23	\$920.00	\$50.00	23	\$1,150.00	\$20.00	23	\$460.00	\$47.00	23	\$1,081.00
19	SP516	General Sanitary Sewer Bid Items		ASTRO TURF	SY	\$18.00	35	\$630.00	\$80.00	35	\$2,800.00	\$30.00		\$1,050.00	\$14.00	35	\$490.00
20	516.1	General Sanitary Sewer Bid Items		SODDING	SY	\$18.00	86	\$1,548.00	\$40.00	86	\$3,440.00	\$20.00		\$1,720.00	\$14.00	86	\$1,204.00
21	520.1	General Sanitary Sewer Bid Items		HYDROMULCH	SY	\$12.00	194	\$2,328.00	\$20.00	194	\$3,880.00	\$12.00		\$2,328.00	\$4.00	194	\$776.00
22	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS & TRAFFIC HANDLING (HANSFORD ST.)	LS	\$10,000.00	1	\$10,000.00	\$40,000.00	1	\$40,000.00	\$8,000.00		\$8,000.00	\$22,500.00	1	\$22,500.00
23	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS & TRAFFIC HANDLING (E PYRON AVE.)	LS	\$10,000.00	1	\$10,000.00	\$25,000.00	1	\$25,000.00	\$8,000.00		\$8,000.00	\$16,500.00	1	\$16,500.00
24	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS & TRAFFIC HANDLING (MENARBY CT)	LS	\$10,000.00	1	\$10,000.00	\$30,000.00	1	\$30,000.00	\$8,000.00		\$8,000.00	\$13,500.00	1	\$13,500.00
25	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS & TRAFFIC HANDLING (SAN PEDRO AVE.)	LS	\$10,000.00	1	\$10,000.00	\$12,000.00	1	\$12,000.00	\$8,000.00	1	\$8,000.00	\$9,500.00	1	\$9,500.00
26	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS & TRAFFIC HANDLING (W MALONE)	LS	\$10,000.00	1	\$10,000.00	\$30,000.00	1	\$30,000.00	\$15,000.00		\$15,000.00	\$21,000.00	1	\$21,000.00
27	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-12)	LS	\$10,000.00	1	\$10,000.00	\$12,000.00	1	\$12,000.00	\$10,000.00		\$10,000.00	\$9,500.00	1	\$9,500.00
28	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-18A/C-18B)	LS	\$10,000.00	1	\$10,000.00	\$50,000.00	1	\$50,000.00	\$38,000.00	т	\$38,000.00	\$24,500.00	1	\$24,500.00
29	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-24)	LS	\$10,000.00	1	\$10,000.00	\$40,000.00	1	\$40,000.00	\$30,000.00		\$30,000.00	\$17,500.00	1	\$17,500.00
30	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-30)	LS	\$10,000.00	1	\$10,000.00	\$25,000.00	1	\$25,000.00	\$10,000.00		\$10,000.00	\$9,500.00	1	\$9,500.00
31	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-40A/C-40B)	LS	\$10,000.00	1	\$10,000.00	\$25,000.00	1	\$25,000.00	\$10,000.00		\$10,000.00	\$33,100.00	1	\$33,100.00
32	530.7	General Sanitary Sewer Bid Items		BARRICADES, SIGNS, TRAFFIC HANDLING (SITE C-57)	LS	\$10,000.00	1	\$10,000.00	\$25,000.00	1	\$25,000.00	\$10,000.00	1	\$10,000.00	\$8,500.00	1	\$8,500.00
33	535.1	General Sanitary Sewer Bid Items		HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4-IN WIDE DOUBLE SOLID YELLOW LINE) (COSA SPEC)	LF	\$4.25	1,067	\$4,534.75	\$6.00	1,067	\$6,402.00	\$18.00	1,0	\$19,206.00	\$9.00	1,067	\$9,603.00
34	535.14	General Sanitary Sewer Bid Items		RAILROAD CROSSING SYMBOL, INCLUDING TWO R'S, CROSS BUCK & 3 TRAVERSE BARS (COSA SPEC)	EA	\$125.00	2	\$250.00	\$800.00	2	\$1,600.00	\$2,000.00		\$4,000.00	\$1,200.00	2	\$2,400.00
35	535.2	General Sanitary Sewer Bid Items		HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4-IN WIDE WHITE LINE) (COSA SPEC)	LF	\$4.25	320	\$1,360.00	\$5.00	320	\$1,600.00	\$18.00		\$5,760.00	\$9.00	320	\$2,880.00
36	535.4	General Sanitary Sewer Bid Items		8 INCH WIDE WHITE LINE	LF	\$12.00	36	\$432.00	\$10.00	36	\$360.00	\$16.00		\$576.00	\$12.00	36	\$432.00
37	535.7	General Sanitary Sewer Bid Items		24 INCH WIDE WHITE LINE	LF	\$25.00	62	\$1,550.00	\$40.00	62	\$2,480.00	\$25.00	,2	\$1,550.00	\$16.00	62	\$992.00
38	537.6	General Sanitary Sewer Bid Items		PAVEMENT MARKER (TYPE I-C)	EA	\$50.00	24	\$1,200.00	\$20.00	24	\$480.00	\$100.00	24	\$2,400.00	\$26.00	24	\$624.00
39	537.8	General Sanitary Sewer Bid Items		PAVEMENT MARKER (TYPE II-A-A)	EA	\$55.00	28	\$1,540.00	\$20.00	28	\$560.00	\$100.00	28	\$2,800.00	\$29.00	28	\$812.00
40	550	General Sanitary Sewer Bid Items		TRENCH EXCAVATION SAFETY PROTECTION	LF	\$2.00	1,631	\$3,262.00	\$3.00	1,631	\$4,893.00	\$10.00	1,	\$16,310.00	\$15.00	1,631	\$24,465.00
41	845.1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (4' HIGH CHAIN LINK)	LF	\$25.00	379	\$9,475.00	\$70.00	379	\$26,530.00	\$34.00	370	\$12,886.00	\$36.00	379	\$13,644.00
42	SS1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (6' HIGH WOOD)	LF	\$28.00	369	\$10,332.00	\$90.00	369	\$33,210.00	\$50.00	69	\$18,450.00	\$42.00	369	\$15,498.00

						CO-00560 - 1	1_T CONSTRUCTION LLC		CO-00560 - 2_PRONTO SANDBLASTING & COATING			CO-00560 - 3_	TEXAS F		CO-00560 - 4_CRUZ TEC INC		
Line No	Item No	Quote Category	SOV Item		Unit	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount
43	845.1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (6' HIGH METAL PANELING)	LF	\$35.00	35	\$1,225.00	\$100.00	35	\$3,500.00	\$100.00	35	\$3,500.00	\$54.00	35	\$1,890.00
44	845.1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (4' HIGH WROUGHT IRON)	LF	\$32.00	32	\$1,024.00	\$120.00	32	\$3,840.00	\$120.00	32	\$3,840.00	\$63.00	32	\$2,016.00
45	845.1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (6' HIGH CHAIN LINK)	LF	\$45.00	60	\$2,700.00	\$150.00	60	\$9,000.00	\$60.00	Î	\$3,600.00	\$56.00	60	\$3,360.00
46	845.1	General Sanitary Sewer Bid Items		REMOVE AND REPLACE FENCING (8' HIGH CHAIN LINK)	LF	\$65.00	50	\$3,250.00	\$180.00	50	\$9,000.00	\$80.00	50	\$4,000.00	\$62.00	50	\$3,100.00
47	848	General Sanitary Sewer Bid Items		8" IPS DR17 HDPE SANITARY SEWER PIPE - ALL DEPTH	LF	\$500.00	7	\$3,500.00	\$200.00	7	\$1,400.00	\$100.00	V	\$700.00	\$95.00	7	\$665.00
48	848	General Sanitary Sewer Bid Items		8" (SDR-26) (ASTM D-3034) PVC SANITARY SEWER PIPE - ALL DEPTH	LF	\$165.00	549	\$90,585.00	\$200.00	549	\$109,800.00	\$182.00	5	\$99,918.00	\$162.00	549	\$88,938.00
49	848	General Sanitary Sewer Bid Items		8" (SDR-26) (ASTM D-2241) PVC SANITARY SEWER PIPE - 160 PSI - ALL DEPTH	LF	\$185.00	721	\$133,385.00	\$220.00	721	\$158,620.00	\$192.00	7	\$138,432.00	\$170.00	721	\$122,570.00
50	848	General Sanitary Sewer Bid Items		10" (SDR-26) (ASTM D-2241) PVC SANITARY SEWER PIPE - 160 PSI ALL DEPTH	LF	\$325.00	118	\$38,350.00	\$250.00	118	\$29,500.00	\$198.00	118	\$23,364.00	\$180.00	118	\$21,240.00
51	851	General Sanitary Sewer Bid Items		EXISTING MANHOLE ADJUSTMENTS (WITH NEW RING AND WATERTIGHT COVER)	EA	\$3,950.00	15	\$59,250.00	\$6,000.00	15	\$90,000.00	\$3,200.00	15	\$48,000.00	\$5,200.00	15	\$78,000.00
52	852.6.1	General Sanitary Sewer Bid Items		SANITARY SEWER MANHOLE (0' - 6'), 4' DIA.	EA	\$6,895.00	15	\$103,425.00	\$15,000.00	15	\$225,000.00	\$6,800.00	15	\$102,000.00	\$10,500.00	15	\$157,500.00
53	852.6.1	General Sanitary Sewer Bid Items		SANITARY SEWER MANHOLE (0'-6') (COPPER E80 LL), 4' DIA.	EA	\$7,800.00	2	\$15,600.00	\$18,000.00	2	\$36,000.00	\$40,000.00	2	\$80,000.00	\$15,000.00	2	\$30,000.00
54	852.6.1	General Sanitary Sewer Bid Items		SANITARY SEWER DROP MANHOLE (0' - 6'), 4' DIA.	EA	\$7,000.00	2	\$14,000.00	\$18,000.00	2	\$36,000.00	\$8,000.00	2	\$16,000.00	\$11,000.00	2	\$22,000.00
55	852.6.1	General Sanitary Sewer Bid Items		SANITARY SEWER DOGHOUSE MANHOLE (0' - 6'), 4' DIA.	EA	\$6,700.00	3	\$20,100.00	\$20,000.00	3	\$60,000.00	\$8,000.00	61	\$24,000.00	\$10,500.00	3	\$31,500.00
56	852.6.1	General Sanitary Sewer Bid Items		SANITARY SEWER DOGHOUSE DROP MANHOLE (0'-6'), 5' DIA.	EA	\$6,800.00	1	\$6,800.00	\$25,000.00	1	\$25,000.00	\$30,000.00		\$30,000.00	\$12,500.00	1	\$12,500.00
57	852.6.2	General Sanitary Sewer Bid Items		EXTRA DEPTH SANITARY SEWER MANHOLE (> 6'), 4' DIA.	VF	\$600.00	44	\$26,400.00	\$700.00	44	\$30,800.00	\$400.00	44	\$17,600.00	\$950.00	44	\$41,800.00
58	852.6.2	General Sanitary Sewer Bid Items		EXTRA DEPTH SANITARY SEWER DROP MANHOLE (> 6'), 4' DIA.	VF	\$600.00	15	\$9,000.00	\$750.00	15	\$11,250.00	\$600.00	15	\$9,000.00	\$950.00	15	\$14,250.00
59	852.6.2	General Sanitary Sewer Bid Items		EXTRA DEPTH SANITARY SEWER DOGHOUSE MANHOLE (> 6'), 4' DIA.	VF	\$600.00	10	\$6,000.00	\$800.00	10	\$8,000.00	\$600.00	0	\$6,000.00	\$950.00	10	\$9,500.00
60	852.6.2	General Sanitary Sewer Bid Items		EXTRA DEPTH SANITARY SEWER DOGHOUSE DROP MANHOLE (0'-6'), 5' DIA.	VF	\$600.00	15	\$9,000.00	\$1,200.00	15	\$18,000.00	\$2,000.00	15	\$30,000.00	\$1,200.00	15	\$18,000.00
61	854	General Sanitary Sewer Bid Items		SANITARY SEWER LATERAL	LF	\$175.00	293	\$51,275.00	\$120.00	293	\$35,160.00	\$140.00	200	\$41,020.00	\$85.00	293	\$24,905.00
62	854	General Sanitary Sewer Bid Items		8" SANITARY SEWER LATERALS	LF	\$225.00	90	\$20,250.00	\$200.00	90	\$18,000.00	\$160.00	30	\$14,400.00	\$96.00	90	\$8,640.00
63	854.1	General Sanitary Sewer Bid Items		CLEANOUT (TWO-WAY) FOR SANITARY SEWER LATERAL	EA	\$650.00	19	\$12,350.00	\$1,400.00	19	\$26,600.00	\$1,200.00		\$22,800.00	\$1,250.00	19	\$23,750.00
64	855	General Sanitary Sewer Bid Items		RECONSTRUCTION OF EXISTING MANHOLES	EA	\$5,250.00	12	\$63,000.00	\$6,000.00	12	\$72,000.00	\$6,000.00		\$72,000.00	\$5,800.00	12	\$69,600.00
65	858	General Sanitary Sewer Bid Items		CONCRETE ENCASEMENT, CRADLES, SADDLES & COLLARS	CY	\$225.00	5	\$1,125.00	\$240.00	5	\$1,200.00	\$500.00		\$2,500.00	\$250.00	5	\$1,250.00
66	860	General Sanitary Sewer Bid Items		VERTICAL STACKS	VF	\$175.00	63	\$11,025.00	\$150.00	63	\$9,450.00	\$100.00	63	\$6,300.00	\$52.00	63	\$3,276.00
67	862.1	General Sanitary Sewer Bid Items		ABANDONMENT OF SANITARY SEWER MAIN (6" MAIN) TO BE GROUT FILLED	LF	\$28.00	610	\$17,080.00	\$40.00	610	\$24,400.00	\$28.00	6 0	\$17,080.00	\$37.00	610	\$22,570.00

						CO-00560 - 1	_T CON	STRUCTION LLC	& COATING				TEXAS LLC		CO-00560 - 4_CRUZ TEC INC		
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount
68	862.1	General Sanitary Sewer Bid Items		ABANDONMENT OF SANITARY SEWER MAIN (8" MAIN) TO BE GROUT FILLED	LF	\$35.00	528	\$18,480.00	\$50.00	528	\$26,400.00	\$34.00	528	\$17,952.00	\$48.00	528	\$25,344.00
69	862.1	General Sanitary Sewer Bid Items		ABANDONMENT OF SANITARY SEWER MAIN (10" MAIN) TO BE GROUT FILLED	LF	\$40.00	59	\$2,360.00	\$50.00	59	\$2,950.00	\$40.00		\$2,360.00	\$85.00	59	\$5,015.00
70	862.1	General Sanitary Sewer Bid Items		ABANDONMENT OF SANITARY SEWER MAIN (12" MAIN) TO BE GROUT FILLED	LF	\$45.00	614	\$27,630.00	\$50.00	614	\$30,700.00	\$38.00	6	\$23,332.00	\$36.00	614	\$22,104.00
71	864-S2	General Sanitary Sewer Bid Items		BYPASS PUMPING (LARGE DIAMETER SANITARY SEWER) (SITE C-42A/C-42B)	LS	\$8,500.00	1	\$8,500.00	\$150,000.00	1	\$150,000.00	\$80,000.00		\$80,000.00	\$9,500.00	1	\$9,500.00
72	864-S2	General Sanitary Sewer Bid Items		BYPASS PUMPING, LARGE DIAMETER SANITARY SEWER (E PYROI AVE.)	N LS	\$8,500.00	1	\$8,500.00	\$150,000.00	1	\$150,000.00	\$80,000.00		\$80,000.00	\$13,500.00	1	\$13,500.00
73	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-4	LS	\$8,500.00	1	\$8,500.00	\$15,000.00	1	\$15,000.00	\$6,000.00		\$6,000.00	\$9,500.00	1	\$9,500.00
74	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-11	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00		\$6,000.00	\$14,500.00	1	\$14,500.00
75	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-12	LS	\$8,500.00	1	\$8,500.00	\$15,000.00	1	\$15,000.00	\$6,000.00	1	\$6,000.00	\$13,500.00	1	\$13,500.00
76	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-16	LS	\$8,500.00	1	\$8,500.00	\$15,000.00	1	\$15,000.00	\$6,000.00	1	\$6,000.00	\$18,500.00	1	\$18,500.00
77	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-17	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00		\$6,000.00	\$14,500.00	1	\$14,500.00
78	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (SITE C-18A/C-18B)	LS	\$8,500.00	1	\$8,500.00	\$50,000.00	1	\$50,000.00	\$40,000.00		\$40,000.00	\$35,000.00	1	\$35,000.00
79	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-21B	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00		\$6,000.00	\$26,500.00	1	\$26,500.00
80	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-24	LS	\$8,500.00	1	\$8,500.00	\$30,000.00	1	\$30,000.00	\$6,000.00		\$6,000.00	\$17,500.00	1	\$17,500.00
81	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-30	LS	\$8,500.00	1	\$8,500.00	\$20,000.00	1	\$20,000.00	\$6,000.00		\$6,000.00	\$12,500.00	1	\$12,500.00
82	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (SITE C-40A/C-40B)	LS	\$8,500.00	1	\$8,500.00	\$20,000.00	1	\$20,000.00	\$12,000.00	1	\$12,000.00	\$75,000.00	1	\$75,000.00
83	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (SITE C-42A/C-42B)	LS	\$8,500.00	1	\$8,500.00	\$15,000.00	1	\$15,000.00	\$12,000.00		\$12,000.00	\$65,000.00	1	\$65,000.00
84	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) SITE C-57	LS	\$8,500.00	1	\$8,500.00	\$25,000.00	1	\$25,000.00	\$6,000.00	-	\$6,000.00	\$45,000.00	1	\$45,000.00
85	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (HANSFORD ST.)	LS	\$8,500.00	1	\$8,500.00	\$30,000.00	1	\$30,000.00	\$6,000.00		\$6,000.00	\$26,000.00	1	\$26,000.00
86	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (E PYRON AVE.)	LS	\$8,500.00	1	\$8,500.00	\$20,000.00	1	\$20,000.00	\$6,000.00		\$6,000.00	\$68,500.00	1	\$68,500.00
87	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (MENARBY CT.)	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00		\$6,000.00	\$16,500.00	1	\$16,500.00
88	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (SAN PEDRO AVE.)	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00		\$6,000.00	\$9,500.00	1	\$9,500.00
89	865	General Sanitary Sewer Bid Items		BYPASS PUMPING (SMALL DIAMETER SANITARY SEWERS) (W MALONE AVE)	LS	\$8,500.00	1	\$8,500.00	\$10,000.00	1	\$10,000.00	\$6,000.00	1	\$6,000.00	\$22,000.00	1	\$22,000.00
90	866	General Sanitary Sewer Bid Items		SANITARY SEWER MAIN TELEVISION PRE INSPECTION (8" - 15") WITH CLEANING	LF	\$4.00	5,057	\$20,228.00	\$35.00	5,057	\$176,995.00	\$10.00	5,0	\$50,570.00	\$12.00	5,057	\$60,684.00
91	866	General Sanitary Sewer Bid Items		SEWER MAIN TELEVISION INSPECTION (27" AND LARGER) WITH CLEANING AND PRE INSPECTION	LF	\$25.00	579	\$14,475.00	\$45.00	579	\$26,055.00	\$20.00	579	\$11,580.00	\$15.00	579	\$8,685.00
92	866	General Sanitary Sewer Bid Items		SANITARY SEWER MAIN TELEVISION POST INSPECTION (8" - 15")	LF	\$2.75	1,417	\$3,896.75	\$30.00	1,417	\$42,510.00	\$5.00	1,4	\$7,085.00	\$9.00	1,417	\$12,753.00

				SOV Itom Description		CO-00560 - 1_T CONSTRUCTION LLC			CO-00560 - 2_PRONTO SANDBLASTING & COATING			CO-00560 - 3	IDE UTILITIES	CO-00560 - 4_CRUZ TEC INC			
Line No	Item No	Quote Category	SOV	Item Description	Unit	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount	Unit Price	Qty	Total Amount
93		General Sanitary Sewer Bid Items		REHABILITATION OF SANITARY SEWER BY PIPE BURST, 8" DIA. IPS DR17 HDPE PIPE-ALL DEPTH	LF	\$60.00	3,094	\$185,640.00	\$120.00	3,094	\$371,280.00	\$82.00	3,094	\$253,708.00	\$62.00	3,094	\$191,828.00
94		General Sanitary Sewer Bid Items		REHABILITATION OF SANITARY SEWER BY PIPE BURST, 10" DIA. IPS DR17 HDPE PIPE- ALL DEPTH	LF	\$60.00	286	\$17,160.00	\$140.00	286	\$40,040.00	\$90.00	286	\$25,740.00	\$70.00	286	\$20,020.00
95		General Sanitary Sewer Bid Items		REHABILITATION OF SANITARY SEWER BY PIPE BURST, 30" DIA. IPS DR17 HDPE PIPE- ALL DEPTH	LF	\$1,125.00	579	\$651,375.00	\$600.00	579	\$347,400.00	\$640.00	579	\$370,560.00	\$492.00	579	\$284,868.00
96		General Sanitary Sewer Bid Items		MANHOLE REHABILITATION (STANDARD MANHOLES 4' DIA.)	VF	\$525.00	118	\$61,950.00	\$1,000.00	118	\$118,000.00	\$480.00	118	\$56,640.00	\$485.00	118	\$57,230.00
97		General Sanitary Sewer Bid Items		POINT REPAIRS (UP to 9 LF) - 8" DIA ALL DEPTH	EA	\$3,800.00	3	\$11,400.00	\$3,000.00	3	\$9,000.00	\$4,000.00	3	\$12,000.00	\$3,500.00	3	\$10,500.00
98		General Sanitary Sewer Bid Items		POINT REPAIRS (UP to 9 LF) - 10" DIA ALL DEPTH	EA	\$4,250.00	1	\$4,250.00	\$12,000.00	1	\$12,000.00	\$6,000.00	人	\$6,000.00	\$4,200.00	1	\$4,200.00
99	1103.5	General Sanitary Sewer Bid Items		OBSTRUCTION REMOVAL - 18" OR SMALLER DIA REMOTE CONTROL - ALL DEPTH	EA	\$1,250.00	2	\$2,500.00	\$2,000.00	2	\$4,000.00	\$1,000.00	T	\$2,000.00	\$1,250.00	2	\$2,500.00
100	1109.1	General Sanitary Sewer Bid Items		SANITARY SEWER LATERAL RECONNECTIONS - OPEN CUT EXCAVATION - ALL DEPTH	EA	\$1,025.00	38	\$38,950.00	\$1,200.00	38	\$45,600.00	\$2,200.00	38	\$83,600.00	\$2,250.00	38	\$85,500.00
101		General Sanitary Sewer Bid Items		PORTABLE CHANGEABLE MESSAGE SIGN (TXDOT SPEC.)	EA	\$25,000.00	2	\$50,000.00	\$50,000.00	2	\$100,000.00	\$3,000.00	2	\$6,000.00	\$4,500.00	2	\$9,000.00
102	SS 3300	General Sanitary Sewer Bid Items		SANITARY SEWER PRIVATE LATERAL (4"-6") (INCLUDING COSA PERMIT AND LICENSED PLUMBER)	LF	\$125.00	600	\$75,000.00	\$150.00	600	\$90,000.00	\$160.00	600	\$96,000.00	\$112.00	600	\$67,200.00
103		General Sanitary Sewer Bid Items		MOBILIZATION SUBTOTAL	LS	\$212,500.00	1	\$212,500.00	\$332,200.00	1	\$332,200.00	\$204,000.00		\$204,000.00	\$255,000.00	1	\$255,000.00
		General Sanitary Sewer Bid Items		PREPARING RIGHT-OF-WAY SUBTOTAL	LS	\$88,400.00	1	\$88,400.00	\$165,700.00	1	\$165,700.00	\$85,000.00		\$85,000.00	\$158,476.45	1	\$158,476.45
		General Sanitary Sewer Bid Items		CPS ENERGY ALLOWANCE	ALW	\$15,000.00	1	\$15,000.00	\$15,000.00	1	\$15,000.00	\$15,000.00		\$15,000.00	\$15,000.00	1	\$15,000.00
		General Sanitary Sewer Bid Items		UNION PACIFIC RAILROAD FLAGGERS	ALW	\$200,000.00	1	\$200,000.00	\$200,000.00	1	\$200,000.00	\$200,000.00	1	\$200,000.00	\$200,000.00	1	\$200,000.00
	SC6	General Sanitary Sewer Bid Items		UPRR PERMIT EXTENSION ALLOWANCE	ALW	\$20,000.00	1	\$20,000.00	\$20,000.00	1	\$20,000.00	\$20,000.00	1	\$20,000.00	\$20,000.00	1	\$20,000.00
					Total			\$3,619,636.50			\$4,992,727.00			\$3,602,754.00			\$3,818,005.45
Calendar	Days To Co	omplete : 330		As-Rea	d Total			\$3,799,636.50			\$4,992,727.00			3,584,754.00			\$3,798,929.00